H £ 0l & AF & S

Al A

SN ALDED
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FaFSNME==y, 27,699,958 31,130,182 A3,430,224
= 438,760
[ 1,634,000
Jl 83,137
< 5,112,569
= 20,431,492
INRP 9,280,673 13,708,871 A4,428,198
= 1,464,285
o 7,816,388
A8y =8 1,104,156 1,287,515 183,359
A2y A 42,274 58,724 16,450
201 et 3| 12,594 19,044 26,450
01 AtR2tc|bI 6,144 6,144 0
OHEdIER =2 S
8,000 x8& 12 8L 6,144
02 S5=2g4l 6,450 12,900 26,450
O =L NIHAMU RAES
150,000 #4304 2 6,450
202 048l 7,680 7,680
01 2L AL 7,680 7,680
OAd&geFN & s I=5H|
20,0002 «8H 12 x4 7,680
203 gF=4| 2,000 2,000
03 A=A =T 2,000 2,000
(OFaF=3-:pShe R 2,000
401 Al HIZ 2018 20,000 30,000 10,000
01 Al&H| 20,000 30,000 10,000
O = AHAIUHEX
10,000, 000& *29H 2= 20,000
=2 |X2el 834,152 901,061 66,909
201 et 3| 288,802 260,851 27,951
01 AtR2te|Hl 110,405 92,405 18,000
(O:1F= == == ] 8,000 +208 12 1,920
Hollti& Z2efi==0iLl #
500 +6,0000H 3,000
Odaliti® Meg 2g
250,00021 % 10H 2,500
O=Z22CARA 28 1,671
-8 PRz 55,900 * 1204 & 671
—A2E 7Y 1,000
Oogxxteg gxtz 5,350,000 =33 =4CH 64,200
Oz3HlE 423 17,964
—LBADE 1,864
—0=01e 18,0002 *100H 1,800
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2A: Aduns
S Kone
el HEdd =4 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—CexFIxE MEle
800,000 & x27= 1,600
—=4D| M=01e 350,000 *3% 1,050
IS 50,0002 %1074 500
—Xs8 8¢ 35,000& =104 350
. EPlEn S 260, 00023071 7,800
—16E HAR XY ADE P 2,000
—AJ|SRH ARE P 1,000
OS2HHIE 2 © Z| T 242 250
OT2=EH 2 S0 Hei= 79
300,000 *3H 900
OLZ=Z JHIE Xt (1715 1556) HEZ
1,500,000& =123 18,000
2 S=29| 176,397 168,446 7,951
O&L)| TMEHA 1,500,000 *2CH 3,000
Oz 22| AIRA 6,760
—20IHHIAAE(CAPS) A 2
135,000& «12& 1,620
—N3R3 30,000+ 12& 360
—QIHY AIZE 40,0002 12& 480
-2 3,400
— A7 50,0002 x12& 600
— &5t E 22 25,0002 128 300
ON=Jl & JIHE =57 F+L
1,580 *50L*3CH+7& 1,659
Oxre I 72,364
—goEx 1,580 x350L*4 L+ 12& 26,544
—=41D] 1,580 x200L+1CH+12& 3,792
— A SISt 1,580 *300L*2CH* 12& 11,376
—U=sHSEX 1,580 *200L*1CH+ 12& 3,792
—HIEA ()
1,580 *500L*4 CH 43 12,640
—AI|E2H 1,580@ *300L* 1 CH+63 2,844
—SESESXE 1,580 *300L*1CH*12& 5,688
—HRE HH 1,580 *300L*1CH* 12& 5,688
O==2ltl 17,000
—goEx 1,500,000 *4CH 6,000
— YIS 1,000,000 *2CH 2,000
—U=sESEX 1,000,000 *1CH 1,000
—=40D] 1,500,000 *1CH 1,500
—AI|EZH 1,500,000 *1CH 1,500
—XE=E H=JI 1,500,000 *2CH 3,000
—SEESXE 1,000,000 *1CH 1,000
—HREXH 1,000,000 *1CH 1,000
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FAN AZUSH
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEHO[ 01 12 Al 4,500
—gZEH 4,500,000 *1CH 4,500
OC2FHl & o2& SFU(FLR)
1,580 »20L+0L 2,844
OE2EHl & Zoi{tiEH |FX2= 6.000
O=ded |R=H 1,319 +300L+7E 2,770
OkzgXZel =8 10,000
OsIFAR X2
4,500,000 * 1104 2~ 49,500
03 A2 I 2,000 0 2,000
Osgd T2 2eld SSHAHE=, e,
=) 2,000
206 MH=Hl 124,850 108,940 15,910
01 MZH| 124,850 108,940 15,910
OHZolith®y SatzZs 250,000 250 = 64,750
ollti®as 150,000 x334= 50,100
Ok2 RXE+ E36tE 5,000
Odalitiz 2ef+e 5,000
301 EtE N = 43,700 43,470 230
14 IIEt2 83 43,700 43,470 230
OR&XY KRN B4
230,000 *190CH 43,700
401 Al HIZ R 0HHI 330,400 248,000 82,400
01 Al&H| 307,400 247,000 80,400
O 22 EH)I5Y
800, 0002 »200km 160,000
(OL==F:INFEFS].] 3,800,000 «8JH 2 30,400
OzaXE 2 5,000,000 +27H 2= 10,000
OuUESANE £X 4,500,0003 %61 2~ 27,000
Oz ti+=2t =4 2,500,000 +20JH 2 50,000
OEZAE=E B+ 2,000,000 *257H 2= 50,000
03 A2 CHYI 3,000 1,000 2,000
O R X2l AIZR0H] 3,000
405 KHoHF S| 46,400 239,800 193,400
01 ML ESFSHI 46,400 239,800 193,400
OE=iH H&Jl 3,500, 0002 «7CH 24,500
O18 HI&I| 7,300,000 *3CH 21,900
=37 Mok 2tel 227,730 327,730 100,000
201 el 27,730 27,730 0
01 At22t2lt] 27,730 27,730 0
OsgE422(SCHT)
485,000 +3E | 1,455
O=EE8++2(HYHEZZ)
485,000 x50 K| 24,250
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FAN AZUSH
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O8IIEE+=+=2(EXHA)
15,0003 152 Xl 225
OSIIEE++2(HYHELZ)
15,0003 » 1002 X| 1,500
O=S7ML2te] ARESH 300
401 Al HIZL 201 200,000 300,000 100,000
01 Al&H| 200,000 300,000 100,000
OEXl HYBI(HIEEE2) 200,000
SCADIE 3,044,184 5,637,979 A2,593,7%
= 1,114,285
[Ea 1,929,899
CAIZ I A=A 577,518 1,200,640 N623,122
201 fet= 3| 71,758 84,340 N12,582
01 AtR2tc|HI 28,158 44,340 A16,182
OZH&2?de 28 =5 78
100,000& * 122 1,200
O+ xdl A+ M
15,0003 * 12| 20094 3,000
OFAgS =8 Sl
8,0003 6 *12 )1 2 +8& 4,608
OEAIMHEAS B2 &=
370,000 x5 *13] 1,850
Oz A& A =g 17,500
—ZHERAR yexE
250,000 +25& x13] 6,250
—E2NR2s yeg
250,000 x0H +53] 11,250
02 S52g4l 43,600 40,000 3,600
OZAIHEELHIAI(PIS) 0B &3 22,000
OSAHEEZHMA(PIS) HAAIAE [T 24
el 18,000
OEAMASERZ MRS
300,000& * 128 3,600
202 04| 5,760 4,800 960
01 =LHO LI 5,760 4,800 960
Oz2elHE & TAHY g =8
20,0002 6+ 124 S =4 5,760
401 Al HIZ 2018 500,000 1,110,000 A610,000
01 Al&H| 500,000 1,110,000 610,000
Oz 22 A= (HEH)+8E 500,000
TAITHA OHOIOI & XI2dH 29 47,642 47,642 0
s 14,285
s 33,357
307 @I2t01 & 47,642 47,642 0
< 14,285

- 562 -




SN ASDED
I-I;_(H: IlOintlF
SHRlr SAIDIBE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 33,357
05 212t =S 47,642 47,642 0
OZAITHA OFZHEI0l & XIRAHH 22
47,642,000 x14] 47,642
== 14,285
[Ea 33,357
U= TAMY mEAML(E+S) 1,835,000 2,200,000 A.365,000
= 1,100,000
= 735,000
401 AlEHIZ 201 1,835,000 504,000 1,331,000
= 1,100,000
Ea 735,000
01 AlZH| 1,831,000 500,000 1,331,000
OHSE TAMY =LA (25 248H
XI=1) HW Ar 1,831,000,000& *14] 1,831,000
== 1,100,000
o 731,000
03 Al 20HHI 4,000 4,000 0
OUSE TAINY =AS(H+E 2835H
XI=) AlIE 20 4,000,000% 14 4,000
2HBE=BEZ HE 2l 112,080 117,060 /4,980
201 eer23y| 22,080 27,060 N\4,980
02 S3=gHl 22,080 25,680 23,600
OdJIR3 1,700,000 1290 & 20,400
Odales 1,680
—HZ2 Letdeiea
10,000& *120HE 120
-8 datRs
130,000& * 12043 1,560
401 AlZHIZ SO 90,000 90,000
01 A28l 90,000 90,000
OAB&SE2 HE AEEZ
20,000,000 %31 2 60,000
OJHHEE AZAIE 2=3At 30,000
SAAEEZ ALY 371,944 754,09 A382,151
401 AlEHIZ S 0HbI 371,944 754,09 N382, 151
01 AlZH| 370,000 750,000 A380,000
O8I TAMHEZZ IES SA
65,000,000 *14] 65,000
O Z IZ&X SAt
55,000,000 * 14! 55,000
OF1 HAZ(AR2-19) QAIEHEX A
50,000,000& » 14 50,000
OZAHEEZ DI=8X 242 X=2 100,000
OZAIHEERZ FXES=(EIHAH <) 100,000
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FAN AZUSH
M XSoHe
2l: SAIDIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 1,944 4,095 A2,151
OZANAHEEZ &S A FOHYI
270,000,000& %0.72% 1,944
FRIEMOAAIE (SAIE) 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 A28l 100,000 100,000
O&FAH 100,000
—ZH LHZ NS et 2SS EXR 80,000
—ZA H2W LEDS 2+ & wHMALE 20,000
KIS AL 5,132,333 6,783,377 A1,651,044
= 360,000
Ea 4,782,333
NS LS 300,000 300,000
401 AIEHIX R0 300,000 300,000
01 A28l 300,000 300,000
OFSgt=) 75,000
— A0S =2 ZHISA
20,000,000 20,000
—QtOtS BH==Z 3 At 20,000,000 20,000
—oA0IE E2E+3AM
15,000,000 15,000
— & EDS =23 M 20,000,000 20,000
OttM 30,000
—HE(YN2) =23
30,000,000& 30,000
oggd 40,000
—m30l= SEZYSA
20,000,000 20,000
—=L0LS B2 3 A 20,000,000 20,000
oFAH 95,000
— 0= =23 AM 15,000,000 15,000
—SM0I= =23 AM 20,000,000& 20,000
—CH0IE SSEHELISA
30,000,000& 30,000
—PtE0IS =23 AM 30,000,000& 30,000
oddH 20,000
—2=0l= 4=&XSA
20,000,000 20,000
OA=gd 20,000
— A= =2 EXISA 20,000,000& 20,000
OA=H 20,000
—AS0E A= & Ot LERSA
20,000,000 20,000
SYHFEIEAL 120,433 99,980 20,453
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FAN AZUSH
M XSoHe
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 120,433 99,980 20,453
01 Al&H| 119,433 99,980 19,453
OFdH 119,433
—Z40IS =23 AM 22,000,000 22,000
—ZNlE A5 & EZFSA
22,000,000 22,000
—4A0S FUHEXSA
25,433,000 25,433
—2Ss22d Y JIEdZEXSA
25,000,000 25,000
—NESZRY ¥ It LERISAL
25,000,000 25,000
03 A2 20HHI 1,000 0 1,000
OE5d X2 AE AIE=20UH 1,000
FUE 00l &AL 599,200 904,000 304,800
401 Al HIZ 01| 539,200 904,000 304,800
01 Al&H| 596,200 901,000 304,800
O¥=+5 170,000
—2AS0S =2 ¥ ALY 25,000
—SH0IS =2 ZXIAY 45,000
—Sd0IS =2 EXIAY 55,000
—&,0l00E 2 & SSEXNAE 45,000
OdtAE 175,000
—Ed02 2202018 & Jteag £X
Ared 35,000
— 0 SEE2+3M 25,000
—g€E0S AEIJdI0IE EXISAt 35,000
—S10t=s Y2 AFSA 80,000
OogH 70,000
—&1 ot HEIiE & HEHIA 36,000
—=20tS =24 X SAt 35,000
od&H 80,000
—SE (DN E)0RIEH HAXISAt 80,000
o= 101,200
— A0S SSEYSAM 7,200
—A0ls E-ZSA 34,000
—LHE0tS B2 EXA 20,000
—=2d0te &2 M2 & Jghel &F
Ared 40,000
03 Al 20HHI 3,000 3,000 0
OF2F0M A AIE=0HYI 3,000
=OIE O Oll AFAFS (ZHI IR 350,000 282,500 67,500
= 350,000
401 AIEHIZ R 0HYI 350,000 282,500 67,500
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FAN AZUSH
M XSoHe
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 360,000
01 AlZ2H| 360,000 282,500 67,500
OFSg= 40,000
—&DI0IS =2 &X At 20,000
< 20,000
—&de S22 At 20,000
== 20,000
Ot H 70,000
—SANits s2 2& 10,000
== 10,000
—2II0IS =2 &Xl 20,000
= 20,000
—g&lls s =¥ 20,000
= 20,000
— K0S =2 XA 20,000
= 20,000
oglgs 40,000
—=d0S FA =2 4| 10,000
= 10,000
—SS0t2 JtEd2 ExAr 20,000
< 20,000
—4D|0t2 232IE s2 2E 10,000
== 10,000
OFAH 15,000
—NY S22 2 SM 15,000
== 15,000
oddH 60,000
—Eslls s2MEE 10,000
== 10,000
—2¢4AS =2 &% 50,000
=S 50,000
OHEH 75,000
—shits 28 ¢ Uel4X 50,000
=S 50,000
—1E0E &2 2 A 10,000
= 10,000
— 030l &8 & 28 =& 15,000
= 15,000
OAH=H 50,000
—gd E22d & EULX 20,000
= 20,000
—24d0ls S22 10,000
& 10,000
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SN ALDED
M XSoHe
el NS AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Z40tS 2 OtAZ2 T22H 20,000
= 20,000
Mol (<) Il S+AS 845,000 845,000
401 Al&HI LS OHE] 845,000 845,000
01 A&t 841,000 841,000
oF2g 458,000
—cl2lore AESA 80,000, 0002 80,000
~HENS S2RTETA
4,000,000 4,000
—AIHOIS =23 A 4,000,000 4,000
—240l= A=3AM 200,000,000 200,000
—PBOLS HLE2BA 4,000,002 4,000
—SAE0E 45 L B2 SA
70,000,000 70,000
—SH0IE HSUSZEIBA
30,000,000 30,000
—o2tS0tS Bi==Z23At 26,000,000 26,000
—AH0lE A=SA 40,000,000 40,000
Ot H 64,000
—ZH0IS A=3M 50,000,000 50,000
—US0E S EESAM
4,000,000 4,000
—ANHOIE SEEESA
3,000,000 3,000
—20I0ts SZ2EZESA
7,000,000 7,000
oggd 62,000
—F30l= A=3AM 10,000,000 10,000
—AS0E HEUS2TITA
20,000,000& 20,000
— 20l A=3A 10,000,000 10,000
—dulls SSEYSAM
7,000,000& 7,000
—S£S0I2 =2 ¥ S2ZHSAM
15,000,000 15,000
OoFAH 47,000
—gX0= 853 30,000,000 30,000
—A2S0ts 4F3A 17,000,000 17,000
od&H 105,000
— 0= =23 M 55,000,000 55,000
—LDI0IS A=3A 20,000,000 20,000
—SE0S 2% sSHEHSA
30,000,000& 30,000
OAgd 65,000
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SN ALDED
M XSoHe
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZY0E 43 S2RFTA
40,000,000& 40,000
~5l0IS MEUSRTITA
10,000,000& 10,000
—3RI0lE AEASREISA
15,000,000 15,000
OH=H 40,000
—0&0lE A=3A 40,000,000 40,000
03 AlZ 2 THHI 4,000 0 4,000
O==olllloi=7AtE AIZ20HHI
4,000,000 4,000
a2 XSHE A 1,104,000 1,204,320 100,320
401 Al HIZL 201 1,104,000 1,204,320 100,320
01 Al&H| 1,100,000 1,200,000 100,000
OF = 170,000
—otel A= 30,000
—F4& otAEEE 25,000
—&E OtA2EHE 30,000
-0l =2 & Z& 15,000
—5d OtA2EHE 30,000
—24 45 40,000
Ot H 155,000
-7 s22Y 10,000
—SN SEHEE 20,000
—2 Otserd S2d 12,000
—HE SZELY 10,000
—2 SEMHEE 20,000
—gd= S22y 13,000
—018 s2MHZH 20,000
— Y3 s22H 20,000
—3A Hi=2£X 20,000
—2E5=2 L0134 10,000
oglgd 185,000
—d=L = 25,000
—Oot &l AGHE A= 20,000
—ds 82 30,000
—2UE 2t A 20,000
—AX s22H 10,000
—3= otA22FE 15,000
— Y S2H= 36,000
oFAH 185,000
—H2E SEEFSA 15,000
—8=3 =2 4X 15,000
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FAN AZUSH
M XSoHe
el NS AR (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—& =2 £X 10,000
—=g i+=24X 10,000
— s 24X 30,000
—gE =24 X 30,000
—FZ& SEHEE 11,000
-2y sEMEE 12,000
-8 sEMEE 12,000
—FE SZMEE 10,000
oA 155,000
-5 E+2 MEX 2,000
—a S22y 10,000
—UWJl s2MEE 15,000
—=Z ey 10,000
—&3 L0I3€XR 2,500
—SE AT 20,000
—&E= s=22¥ 12,000
—Yg=s =Z22E 4,500
-84 ALK 16,000
—8¢ =22+ 5,500
—84 JIEyg 4,000
—Z& =2 2,500
-4 =2 10,000
—ae L 10,000
—UE S22+ 11,000
— 241 LA M R 20,000
OAHgH 165,000
—1J| =24 X 14,000
—110I0tS =23 A 10,000
—cH B2 4 X 14,000
—S¢I0tS =24 Xl 18,000
— 130t s22E 20,000
—0d0lE sSEMEE 5,000
—E48 ti+==2£X 30,000
—1= ti+==2£X 13,000
—U=0t=H =24 X 6,000
—A= EZ24X 25,000
OH=H 155,000
—OHAH Bi=2 4 X 13,500
—It= =2 £X 20,000
—s2 =2 4X 15,000
-8 S22 3,000
—24 s2=2=+ 10,000
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FAN AZUSH
M XSoHe
s XISIHE A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—0H s==H 10,000
—gM s22+ 7,200
—EXM i=2£X 10,000
—UE =24 X 15,000
—&= ti==2£X 16,300
—&8 AF5LX 15,000
—OH A=SAt 5,000
—OHA+ Bi=2 & X 15,000
03 Al 20HHI 4,000 4,320 A320
OATE XSGHLAS Al 4,000
A2 AL ALS 1,304,000 1,304,680 2680
401 Al HIZL 201 1,304,000 1,304,680 A680
01 Al&H| 1,300,000 1,300,000 0
O¥=5 411,000
—2U s22d 6,000,000 6,000
—34 =2 25,000,000 25,000
—5t% 42 32,000, 0002 3,000
—AIE OpAREE 20,000,000 20,000
—Of2l OtARER 17,000,000 17,000
—E& opAREE 18,000,002 18,000
— A Ot TSR
20,000,000 20,000
—FU s2RE 3,000,000& 3,000
—=d = 10,000,000 10,000
—&8 =2 5,000,000& 5,000
—=& b= 17,000,000 17,000
—7& FHYE B 20,000,000 20,000
—58 s22H 20,000,000& 20,000
—7= =2 &M 5,000,000& 5,000
—EF 0tA22F 20,000,000 20,000
—&8 =2 35,000,000 35,000
—orY OtAE M 2T 35,000,000& 35,000
—8H= =2 20,000,000& 20,000
—did 852 30,000,000 30,000
—dld s22% 3,000,000& 3,000
—78 =2 25,000,000 25,000
—2id == 25,000,000& 25,000
OdtAE 29,000
—Es2 e 16,000,000 16,000
—SA ti=24X 13,000,000 13,000
oggH 189,000
—=3 Bi+=Z24X 22,000,000& 22,000
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FAN AZUSH
LRSIt
Rl XIS IHEALS (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ols sS22H 30,000,000& 30,000
—aSti+=2 EHEX 24,000,000& 24,000
—F5 454X 5,000,000& 5,000
—&=% AFLX 30,000,000& 30,000
—=8 AFLX 38,000,000 38,000
—&= =2 4X 10,000,000 10,000
—&D|0ts e EE 20,000,000 20,000
—Zis orr2EH 10,000,000 10,000
oAHA 80,000
-2 =2 25,000,000 25,000
—&y oA R 23,000,000& 23,000
—gE =2 £X 32,000,000& 32,000
OddH 258,000
—&H ti=24X 50,000,000 50,000
-l s22H 20,000,000& 20,000
—SS AR R 20,000,000 20,000
—&8 =2 =F 15,000,000& 15,000
—&=3 =2 20,000,000 20,000
— S OtA2IN R 30,000,000& 30,000
-2 Y22 F 40,000,000& 40,000
—2= otdEL 10,000,000 10,000
—2=2 S2RH 2,000,000& 2,000
—2=2 S22H 36,000,000 36,000
-S4 =2 15,000,000 15,000
OAgd 122,000
— & 522 10,000,000& 10,000
-3 s22H 15,000,000 15,000
—d358 =21 10,000,000& 10,000
—2340IE =2 10,000,000 10,000
—Z8 =2 5,000,000 5,000
—23Y IS¢ th+==2 15,000,000& 15,000
—&d8 s22d 10,000,000 10,000
— 8 =2 MEX 10,000,000 10,000
— I S22 27,000,000 27,000
—X= ti+=2£X 10,000,000& 10,000
OAH=H 211,000
-8 s 40,000,000 40,000
-S4 =2 30,000,000& 30,000
—It= =2 £X 13,000,000 13,000
—It=0ts o =2 £X
16,000,000 16,000
—0HH s22H 13,000,000& 13,000
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A A4S
SES MNP =

Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-2t B2 4 X 16,000,000 16,000
—& oA R 30,000,000& 30,000
— = AN 2D 3,000,000 3,000
—ds A= 50,000,000 50,000
03 Al =ChH| 4,000 4,680 680
OARR ALHAY A2
4,000,000 4,000
FUHAANE &S 9,700 78,900 269,200
201 fer23y| 4,900 4,100 800
01 AtR2t2|HI 4,900 4,100 800
OAZESN =Xl 2,000
O&A2ed :T 2] 800
OE=E THEH ARES 500
OE=E =gl 8,000 x5 »40& 1,600
202 04t 4,800 4,800
01 =LHOHI 4,800 4,800
Oz s0E 2 RFAS
20,0002 x5 *43|x 12 4,800
E==ot0IIHAI1C W& 500,000 2,608,997 A2,108,997
401 AIEHIZ SR 0HYI 500,000 108,997 391,003
01 Al&HI 500,000 108,997 391,003
OFHBEE 1105H(E8H) HESA 500,000
C2AE 2| 2,569,000 1,515,500 1,063,500
[ 945,000
= 580,500
= 1,043,500
oo - s0HE &2 2,569,000 513,500 2,065,500
= 945,000
< 580,500
= 1,043,500
T - SHEEZE A2l (X)) 304,000 304,000
201 er23 | 3,000 3,000
2 s5=g4l 3,000 3,000
Ozt sHEEZ |2 3,000
—EXNS 24Ee fEUsLSENH 1,000
—=A2e &g S 2,000
401 AIEHIZ SR 0HYI 301,000 301,000
01 Al&H| 300,000 300,000
O=ZAIZ= EHIAE 200,000
OAlEd= ot EH 100,000
03 AIZ2THYI 1,000 0 1,000
OzZ& ¥ sHEEZ |2l Fo] 1,000
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SN ALDED
M EZ A4 2l
=Rl 2 - SOHE &2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 SHEEE FA2(EX) 530,000 0 530,000
= 265,000
= 265,000
401 AlZHIZ S 0HbI 530,000 0 530,000
= 265,000
[Ea 265,000
01 A28l 528,000 0 528,000
OBTZ PRMLAIS (HEM)
528,000,000 528,000
== 265,000
[Ea 263,000
03 Al 20HHI 2,000 0 2,000
OFBEZ PEMLIAML(FEH) AER
af 2,000,000& 2,000
T2 OHMAIE EHIAE 385,000 0 385,000
= 115,500
o 269,500
401 Al HIZ R 0HbI 385,000 0 385,000
== 115,500
o 269,500
01 Al&HI 383,000 0 383,000
OFd 231 BEFELSA
383,000,000 383,000
= 115,500
= 267,500
03 AIZ 2 THYI 2,000 0 2,000
OXF 2TD E4FLZA A
2,000,000 2,000
S =10 HEEZ HE M 950,000 461,000 489,000
[ 945,000
Ea 5,000
401 Al HIZL S 0HYI 950,000 461,000 489,000
s 945,000
= 5,000
01 Al&HI 945,000 458,000 487,000
OFMEFICHZ =2 945,000
= 945,000
03 Al 20HHI 5,000 3,000 2,000
OHMEFICHZ=Z AL 5,000
SIMWRZ XA (HEHA 400,000 0 400,000
= 200,000
Ea 200,000
401 AIEHIX 20HH 400,000 0 400,000
=S 200,000
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SN ALDED
M T2 2l
=Rl 2 - SOHE &2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 200,000
01 AlZ2H| 398,000 0 398,000
O3MDAZ LXIMNE(F+S0 WAZ)
398,000,000 398,000
== 200,000
[Ea 198,000
03 Al 20HHI 2,000 0 2,000
O3dnXZ XA (Z=SL WAZ) Al
=R auls] 2,000,000& 2,000
SENE D= 8,115,929 7,000,419 1,115,510
= 121,000
= 2,038,200
o 5,956,729
sgoerEl 5,676,872 4,463,099 1,213,773
== 2,025,000
o 3,651,872
s a8t 105,872 28,099 77,773
201 2= 21,072 23,29 N2,227
01 At22t2lH] 10,072 12,299 N2, 2271
OsZIIEAE 2 ARZ7Y 500
O0RI2Z2X S|
8,0003 x4 *1201 2 +8& 3,072
OsgdE+ =&2HA 130, 0002 504 6,500
02 s3=gHl 11,000 11,000 0
OM=Xl =28 &II2 1,000
OsgIIEAE 2ig2+ & dH| 10,000
202 04l 4,800 4,800
01 =LHA LI 4,800 4,800
OsEANLER =2
20,0003 4+ 1204 E+5& 4,800
401 Al HIZ S OHbI 80,000 0 80,000
01 AlZ2H| 80,000 0 80,000
Os2IIEAE =& SIS 70,000
O&=z 2U M=l DIZ2EX 243 10,000
SIIBAIE =5 1,017,000 951,000 66,000
401 Al HIZL 201 751,000 651,000 100,000
01 Al&HI 750,000 650,000 100,000
OZX&Eel Eti== A 750,000
03 Al 2 THHI 1,000 1,000 0
OZXEel Ei+==2 FHIAIY AIZR0HYI 1,000
403 AXIEHMSAH=201H 266,000 300,000 34,000
02 SO 2SOt st =& 2 €A ] 266,000 300,000 234,000
02023 =sYIIEIAIE RX2te| AL 100,000
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FAN AZ2USH
HY: SEME WS
el sZ0|eHEH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&=z 0IE1X7 a3 XEelAd
166,000,000& 166,000
SIIBHEHI(ED1EHEHIANG ) (B & A) 330,000 150,000 180,000
= 297,000
o 33,000
401 Al HIZ S 0HHI 330,000 150,000 180,000
== 297,000
o 33,000
01 Al&HI 330,000 150,000 180,000
02024 &J18H ZHIAY 330,000,000 330,000
< 297,000
s 33,000
SIBEHI(AlZlAENES) (M EALY) 1,591,000 1,071,000 520,000
= 1,278,000
Ea 313,000
401 AIEHIX 20 1,591,000 1,071,000 520,000
=S 1,278,000
s 313,000
01 AlZ28| 1,590,000 1,070,000 520,000
020248 22l =clAlE HESAY
1,590,000,000& 1,590,000
< 1,278,000
= 312,000
03 Al 2 CHYI 1,000 1,000 0
020243 Z2c| =clAlE HEF=AE AIER
CHel 1,000
S EHI (=2 A2 THHIDIBIXIR) (B EALY) 200,000 200,000 0
== 180,000
o 20,000
401 AIEHIZ SR 0HYI 200,000 200,000 0
[ 180,000
T 20,000
01 Al&H| 200,000 200,000 0
o204 =2 E&E MEHoIEH XA 200,000
= 180,000
= 20,000
SEH=EAISE 1,803,000 2,003,000 200,000
401 AIEHIX 20HH 1,803,000 2,003,000 200,000
01 A28l 1,800,000 2,000,000 A200,000
020248 sEHi=IHE AL 1,800,000
03 Al 20HHI 3,000 3,000 0
020248 SEHH=HE AL AIZ R0 3,000
IISHANS AIE 3 HLA 60,000 60,000 0
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FAN AZ2USH
HY: SEME WS
el sZ0|eHEH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,000
s 30,000
401 Al HIZL 01| 60,000 60,000 0
= 30,000
= 30,000
01 Al&H| 60,000 60,000 0
020243 ISFHAXNS A S LA
30,000,000 #2901 2 60,000
=S 30,000
s 30,000
Mol (S <) Ol S+AS 270,000 0 270,000
401 AIEHIZ R 0HYI 270,000 270,000
01 Al&H| 269,000 269,000
OFSEt— 146,000
—S2XF =2 AL 27,000
—UEX+ E+2 At 37,000
—SEXNT =2 AL 34,000
—olelkl+ A= & SZEMEH 48,000
OdtAE 63,000
—MEXT =2 AFH 30,000
—EOHXF =2 A 33,000
oAH 30,000
—sZXF =2 AL 30,000
OH=H 30,000
—S=A7 E2 A 30,000
03 AlESTHYI 1,000 0 1,000
OMoH (SR SFAIY AIESOHY 1,000
23X 7 AR2 B A 300,000 0 300,000
< 240,000
= 60,000
401 Al HIZL 01| 300,000 0 300,000
= 240,000
= 60,000
01 Al&H| 300,000 0 300,000
OZ=X7 A2 Hi==IH& AL 300,000
= 240,000
Ea 60,000
ST d=Ed ol 2,342,000 2,451,900 109,900
= 121,000
= 13,200
Ea 2,207,800
J=MEoImet(MEAEH|) (HE) (HEAY) 2,102,000 2,201,900 299,900
401 Al HIZ S OHYI 2,102,000 2,201,900 A99,900
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FAN AZ2USH
M SELE DR
ol =& d=ad gyl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,100,000 2,200,000 100,000
o204 =& deatd A 2,100,000
03 A2 THYI 2,000 1,900 100
O2024d =& deatd JUIAE AIER08I 2,000
U AAIS (SEAIE) 75,000 75,000
401 Al HI L2 75,000 75,000
01 Al&H| 75,000 75,000
OarA el 25,000
—HED BIOD Y= REOS 1R A
& 25,000
oggd 50,000
—HAH F==0tE HES 21 A 50,000
2H0ES FHAXS d20AH WA 165,000 0 165,000
= 121,000
= 13,200
o 30,800
401 AlZHIZ S OHYI 165,000 0 165,000
= 121,000
= 13,200
o 30,800
01 Al&H| 165,000 0 165,000
OEENtE HASXNS A2 HEAI I
AL 165,000
= 121,000
= 13,200
= 30,800
N E32 97,057 85,420 11,637
2T & 2L 82 67,857 66,220 1,637
101 21A4H| 67,857 66,220 1,637
04 JIZtN2Z2 XS+ 67,857 66,220 1,637
OXN==Xl |Xl2el 67,857
—&= 78,9003 *77 H 23] 12,151
—&bAl 78,9002 66 H *22] 10,415
-9 78,9003 x 192 *23] 2,99
— & 78,9003 x99 *23] 15,623
—dd 78,9003 x42H +23] 6,628
- 78,9003 * 12 *22] 1,894
—A= 78,9003 x 115 <23 18,147
c|H =Xl 25,000 15,000 10,000
307 el2to| & 25,000 15,000 10,000
02 2IZHBYAIHE £ 25,000 15,000 10,000
Fcl|H =Al2c 25,000
Sholl & H| 2==J| F X2 4,200 4,200 0

_577_




od
i’
oF
uJ

e|e S 3 8 Y Y
S ~ 0 © ©
Al g 5 8 83 3
KIo = - < < <
E 4 <
B
18 3 ® N S S
SRS N < © e o
< | < N~ hael —
iz 8 5 3 B 8
w2 @ @
KIS
818 SIZT S S H DRIV S LS L e s Le S S8 8 S S S8 8 S S8 8 8 8 Q8
Jdld d|mRKR S =0 s|leoe RN eAN-A- S 3T S S © S S SoSmm S od
< | < < = < < <~ -
55888K|genlgeggeg|d ¢ 58 8 8 88¢ 8 ©~¥e 3
ar N ] B
<
=
M s WM H TH H TH L rH W rH W rH W rH 1y
4 a0 I T T 44
= * B ¥ 0¥ X x B = =
% W S ®  w® W ® % L P
or i g 8 8 8 g ® ®
0 S g 5 s g g g S g 8
Bl S ] > =3 ] ] ] 5 5 ;
: 3 e 8 ng _8 8 g & g _§
3D —~ < 0J g w S K
o or oL ndl]
< = = <F a ~
F o ) o oK T
< ) Ul L - _m = -
. K ¥R = W 5 T = K
—~ ok <F bl K H K Ll K K4
= H A_ byl = MT = byl 70
= _ = S~ 7 L 80
= <+ £ ok @ woB = < K 5
oF |_|_ o0 = Y @ =y . n e
Y| oD I+ ~ =< [mx} ) ~ KO {10 KO
. |&|3 D H0 5k o U RoOR ol A A A
= Ob |0k KO o 30 Ee) 5 < H oJ ol =z <J 410 Ea) {0
ro | a b ) 5
X oM TS - U = 7l U ) o Ho d ok <l S <l
&0 S ldo W M < 0 = = M+ 0 E El K H s} nJ )
2 S PO ) 5 - -~ 0 O O O O O O O O
- R0 o) i 2 5
I+ B 10 E|
1o El
E

- 578 -



AN AZUSH
M pEHE M
Rl WECHH AIZESE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,820
OHASLE (EASATEX
2,116,000 6 2 12,696
[ 6,300
T 6,3%
03 Al 20HHI 2,000 2,000 0
OuSHEAIE XA 20 2,000
HE0IES 7 HEAIS (HEALY) 300,000 330,000 30,000
=S 150,000
s 150,000
401 Al HIZ R OHHI 300,000 330,000 30,000
== 150,000
[Ea 150,000
01 Al&HI 300,000 330,000 230,000
OYs=Etel 4l 400,000 *250m 100,000
< 50,000
s 50,000
OHBEE HEM L )IZE HAl =4
200,000,000 x 14 200,000
= 100,000
o 100,000
AN ALS 1,103,000 2,603,000 1,500,000
[ 550,000
T 553,000
401 Al HIZL 201 1,103,000 2,603,000 1,500,000
= 550,000
= 553,000
01 Al&HI 1,100,000 2,600,000 1,500,000
OFANE0IE SEFTUE gAY
0,000,000 * 10 2= 500,000
= 250,000
o 250,000
OFA |KUHADNSSIY 212 SEF=XHE £
A 600,000,000 * 14 2 600,000
< 300,000
= 300,000
03 Al 2CHYI 3,000 3,000 0
O g A AlE=0H| 3,000
A= PSP 99,522 99,5622
201 fet= 3| 89,322 89,322
01 AtR2te|HI 18,086 18,086
OAE S=UEA 7Y
70,0003 »48 A 280
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AN AZUSH
33 IS
Rl WECHH AIZESE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNSI ZArH SA 2L
90,0002 *42r A 360
OXNsit 888 7 2002 +1,500% 300
OFE3SE 7¥ 402 +5,000% 200
Ontehg XM 2 702 +8,000% 560
OZge A28 #¢ 70,0003 *20H 1,400
OSRCYR Xtz Aoz
100,000 *10CH 1,000
Ou&stlz 5= 8,000& 128 %6
O0RIZ2X =l
8,000 x5S 124 28 3,840
O3 Mzl ¢ 70,0002 x5 63 2,100
Osg=xtd =7 ML U
950,000 *10H A 950
OusSHdEE =257
3,500,000 22 7,000
2 222 71,23 0 71,2%
ODTM.OHIN S EX SER(SI)
2,180&%3,7008 8,066
OLXIA, CHUA & S SEZ(LE)
3803 +8,000= 3,040
OnSAHALE 3323 (WsSHSI] )
4,000,000& ~12& 48,000
OusSKk eExe sXl2eld 5,200
OuEESItet SAlE
16,500 #3501 A% 12 6,930
202 04| 8,200 0 8,200
01 =LHOLI 8,200 0 8,200
ORELLEX
20,0002 6 =124 S +b& 7,200
OSEAHZZ2 gF 2 2AEd
50,0008 %102+ 1,000
405 KHoHFSHI 2,000 0 2,000
01 ML ESFSHI 2,000 0 2,000
OSAIZ 92 2@t L= 2
2,000,000 *1H 2,000
suns X2 5,573,516 4,796,966 776,550
= 316,800
[ 689,000
Jl 83,137
== 216,884
[Ea 4,267,695
sd2ds X 3,779 1,712 AT,933
< 1,134
T 2,645
301 EtE NS 3,779 1,712 AT,933
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2A: Aduns
mE: DEHF WM
=t isus XA (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,134
= 2,645
14 J|EI2 43 3,779 11,712 A7,933
OEANRZ ItE=g K
1,667,000 1,667
& 500
[ 1,167
OEAIRZ ItE HEI| Sz K&
2,112,000& 2,112
= 634
= 1,478
SHEHAKXIA 1,641,400 1,401,375 240,025
= 225,000
= 80,750
= 1,335,650
307 QIZ2t01 A 1,641,400 1,401,375 240,025
= 225,000
T 80,750
= 1,335,650
O 2+HHEXS 1,641,400 1,401,375 240,025
OFXH E=a2 4 526,400
= 80,750
= 445,650
O8NLs a4 865,000
= 225,000
= 640,000
Ootedea &84 250,000
IME=1L N EUNE. 334,519 238,982 95,537
| 83,137
= 251,382
307 2I2+01A 334,519 238,982 95,537
| 83,137
= 251,382
05 QIZtRIELZ 334,519 233,982 95,537
OSEgus=t 23| 268,554,000& 268,554
| 63,937
= 204,617
OLXEAl 29| 38,400,000 38,400
| 19,200
= 19,200
OSEusSH e x=2
27,564,320 27,565
EHAIZRE K& 110,000 75,000 35,000
= 7,800
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AN AZUSH
M pEHE M
el tEsus X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 102,200
301 EtE NS 110,000 75,000 35,000
= 7,800
s 102,200
14 0Bt 2as 110,000 75,000 35,000
OBIAl X2 X 24X (12!)
80,000,000 = 1CH 80,000
= 3,900
s 76,100
OEIAl T2 A SaXI (8e)
30,000,000 1CH 30,000
= 3,900
o 26,100
AS=A2 2,555,000 2,270,000 285,000
[ 689,000
= 112,000
o 1,754,000
301 eEetE2 N = 1,325,000 1,095,000 230,000
[ 130,000
s 1,195,000
14 0Bt 2a s 1,325,000 1,095,000 230,000
Od=ZEAl K& 1,325,000,000& 1,325,000
= 130,000
T 1,195,000
307 elztol & 1,230,000 1,075,000 155,000
= 559,000
[ 112,000
Ea 559,000
09 2+LAE2LS 1,230,000 1,075,000 185,000
Od=EsHA X 1,230,000,000& 1,230,000
s 559,000
== 112,000
o 559,000
HAREAAE(BIS) 22 21,178 19,573 1,605
308 XtXIEMSO0IE 21,178 19,573 1,605
18 SIS0t 4 A A A 21,178 19,573 1,605
OHAZEAIAH(BIS) RXIEH] 21,178
Hsus 2SN 228,918 143,99 84,922
201 er23| 36,620 36,620 0
01 AtR2t2|HI 35,420 35,420 0
OgAlllE 2882
70,0003 #32CH+ 1200 26,880
OgAlOlEZ 2888 2= MA
220,000 »32CH 7,040
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AN AZUSH
g NSHE A
el tEsus X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZEHUE |N2(AZE S) 1,500
2 s5=34l 1,200 1,200 0
OHOIE Hd3=sEY e 0lgz
50,0002 <201 A% 120K 2 1,200
207 AR 102,000 102,000
01 A S| 102,000 102,000
ORNISIIERAl SEM TAISSHYI
22,000,002 22,000
OS0IEHA MTFA(DE, TOH T4) B
ol 52,000, 0008 * 14} 52,000
OsHEHA SAHZAH (RS, EloH Z) 8N
uf 28,000,000 *14! 28,000
307 212+01& 89,960 89,960
09 2 AHEXS 89,960 89,960
OSESH0IE deHe| 8,400
OSE8H0IE dot= & RS
190,000& #2042+ 123 4,560
Os&HOIE 4 & 2cl 77,000
308 AtXIEMSOIE 338 17,416 17,078
18 SIS AS A 338 416 NT8
OHAI2HEE2CIAIAE 2SI 338
RIHEEZ X 508,722 627,000 A118,278
307 glztol & 508,722 627,000 A118,278
09 2+A2LS 508,722 627,000 118,278
ORIE2x3 X= 508,722
—04 2 198%+21,886L+12& 52,002
—3t= 3462 110,000 123 456,720
A2 SEusSst 238 X2 170,000 0 170,000
= 84,000
= 23,000
[Ea 63,000
307 @120l & 76,000 0 76,000
= 38,000
s 38,000
05 2I2t9IEr2 76,000 0 76,000
OSgns4c 29y X2
76,000,000 76,000
= 38,000
s 38,000
405 AtatE = 94,000 0 94,000
= 46,000
< 23,000
= 25,000
01 AL =S F = 94,000 0 94,000
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SN ALDED
M HYRAZH(ALDS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,450 2,450
01 At2teltl 2,450 2,450
Ok=z2eld 1=l 2,450
—ot&J| IIs + 150,000 +7& 1,050
—sZJ| UIs 7Y 200,000 +7 1,400
202 04| 2,000 2,000
01 =LHO LI 2,000 2,000
OkZ |Xl&el odl 2,000
=3l 32,752 32,698 54
Jl=23H] 32,752 32,698 54
201 Ler23| 21,964 23,002 /1,038
01 At2teltl 21,244 22,284 1,040
Otlz2+=sE 750,000 *4= 71%90% 2,700
O=AEX 30,0002 x202+ A 12 «00% 6,480
O=AD| itz 770,000 * 122 %90% 8,316
OAtRESHI 1,500,000 *90% 1,350
O&=J| = 63,0002~ 12 756
OS3&EEI| Xz
38,0002 *4LH* 122 00k 1,642
02 s3=gHl 720 718 2
OQHAZXUAIX 01223
40,0003 * 122 480
OFEE S 23Nz HUE 0ISSHRS
20,0003 x 122 240
202 048l 6,090 4,536 1,554
01 2L AL 6,090 4,536 1,554
OR A2 =LY
25,0002 *20H x 122 »7(fb 6,090
203 =] 4,698 5,160 A462
M FA2HLRFAI 4,698 5,160 A462
ORA2g g2=4H|
435,000 * 122 *90% 4,698
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